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ÿoˆÁTˆEı YÁPˆy‘] ( B.D.P.) 
◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á ( Term End Examination ) :  

◊Qˆ„a∂ëˆÃ[˝, 2013 C L«X, 2014 

a]ÁL◊[˝VÓÁ ( Sociology ) 
B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

◊•Tˆ›Ã^ Yy ( 2nd Paper : Indian Society ) 
a]Ã^  f ªªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
( Weightage of Marks : 70% ) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

 (Eı) \ˆÁÃ[˝Tˆ›Ã^ a]Á„L LÁTˆYÁTˆ C Ã[˝ÁLX›◊TˆÃ[˝ ]„W˝Ó a+EÔı 
◊Eı\ˆÁ„[˝ G‰QÕˆ =‰Pˆ‰ªK˜ TˆÁ ◊[˝`V\ˆÁ„[˝ ◊_F«X* 

 (F) \ˆÁÃ[˝„TˆÃ[˝ XGÃ[˝ L›[˝X a∂ëˆ„μ˘ ◊[˝ÿôˆÁ◊Ã[˝Tˆ %Á„_ÁªJÙXÁ 
EıÃ[˝”X* 

 (G) \ˆÁÃ[˝„TˆÃ[˝ aÁ]Á◊LEı ÿôˆÃ[˝◊[˝XÓÁ„aÃ[˝ È[˝◊`rÙÓm◊_ 
%Á„_ÁªJÙXÁ EıÃ[˝”X* 

 (H) \ˆÁÃ[˝Tˆ›Ã^ a]Á„L Y◊Ã[˝[˝Tˆ¤„XÃ[˝ Âl˘‰y aeï ıTˆEıÃ[˝S C 

%ÁW˝«◊XEı›EıÃ[˝S Y“◊y‘Ã^Ám◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X*  

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) \ˆÁÃ[˝Tˆ›Ã^ a]Á„L B„EıÓÃ[˝ ◊\ˆ◊w¯m◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(F) \ˆÁÃ[˝Tˆ›Ã^ a]Á„L c˜Oe„Ã[˝L `Áa„XÃ[˝ Y“\ˆÁ[˝ a+„EÔı 

%Á„_ÁªJÙXÁ EıÃ[˝”X* 

(G) [˝e`W˝ÁÃ[˝Á, ÂGÁy, a+ N˛ [˝ß-LX ÂGÁúˆ› C %W˝Ô-LX 

ÂGÁúˆ› a∂ëˆ„μ˘ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(H) %ÁW˝«◊XEı \ˆÁÃ[˝„Tˆ Ê`“S› [˝Ó[˝ÿöˆÁÃ[˝ Y“E ı◊Tˆ a∂ëˆ„μ˘ ◊_F«X* 

(I¯) %Á◊V] %UÔX›◊TˆÃ[˝ Y“E ı◊Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(ªªJÙ˜) a]ÁLTˆ„√º¯ ]ÁjÔ C Yg«◊L[˝ÁV› TˆÁ◊√º¯Eı„VÃ[˝ Y◊Ã[˝„[˝` 

aeEıªRÙO a∂ëˆ„μ˘ ◊ªJÙ‹ôˆÁÃ[˝ ◊[˝‰`¿bS EıÃ[˝”X* 

3* Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 6 × 4 = 24 

(Eı) ◊[˝[˝Ác˜-◊[˝‰¨K˜V ◊Eı ? 

(F) ◊Eı„`ÁÃ[˝ %YÃ[˝ÁW˝ ◊Eı ? 

(G) ◊_Ü È[˝b]Ó ◊Eı ? 

(H) Y◊Ã[˝„[˝` aeEıªRÙO ◊Eı ? 

(I¯) LXaeFÓÁÃ[˝ HX±ºˆ ◊Eı ? 

(ªJÙ) %ÁW˝«◊XEı›EıÃ[˝S ◊Eı ? 

(ªK˜) c˜Oa_Á]› a]Á„L =YV_m◊_ ◊Eı ◊Eı ? 

(L) p˚Á◊Tˆ a+EÔı EıÁ„Eı [˝„_ ? 
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1. Answer any two questions : 20 × 2 = 40 

(a) Write, in detail, how the relationship  

between caste and politics is growing in 

India. 

(b) Elaborately discuss on urban life in India. 

(c) Discuss the features of social stratification 

in India.  

(d) Discuss the Sanskritization and 

Modernization processes of social change in 

India. 

2. Answer any three questions  : 12 × 3 = 36 

(a) Discuss the bases of unity in Indian 

society. 

(b) Discuss the impact of British rule on Indian 

society.  

(c) Discuss, in detail, lineage, clan, phratry 

and Moiety.  

(d) Discuss the nature of class system in 

modern India. 

(e) Discuss the nature of primitive economy. 

(f) Analyse the theories extended by Marx and 

bourgeois theorists on ecological crisis in 

sociology. 

3. Answer any four questions  : 6 × 4 = 24 

(a) What is Divorce ? 

(b) What is juvenile delinquency ? 

(c) What is gender discrimination ? 

(d) What is ecological crisis ? 

(e) What is Population density ? 

(f) What is Modernization ? 

(g) What are the subgroups in Islamic society ? 

(h) What are kin relations ? 

    


